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| Semester B.Com. Examination, November/December 2016
(F + R) (CBCS) (2014-15 and Onwards)
COMMERCE
Financial Accounting — |

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in English or
in Kannada.

SECTION-A

1. Answerany five sub-questions. Each sub-question carriestwomarks.  (5x2=10)
a) Mention any two objectives of accounting.
b) Listany four accounting standards.

¢) Mention any four disadvantages of Single Entry System. .
d) What is pure single entry system ?

)
)
e) Give the meaning of down payment.
f) What is royalty ?

)

g) What do you mean by purchase consideration ?

SECTION-B
Answerany three questions. Each question carries six marks. (3x6=18)
2. Briefly discuss the users of accounting information.

3. From the following information calculate opening stock :

Rs.
Purchases during the year 55,000
Sales during the year 1,25,000
Closing stock : 18,000
Manufacturing expenses 12,000
Carriage inward 2,000

Rate of gross profit was 25% on cost
P.T.O.
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4. Calculate the amount of interest and principal included in each instaiment.
Cash price Rs. 2,00,000
Down paymentRs. 50,000

Balance in three instalments of Rs. 60,000 each payable at the end of each year.

5. Prepare an Analysis Table from the following details :
Royalty payable Rs. 0.50 per ton of output
Minimum rent Rs. 7,500 P.A.
Shortworkings are recoverable during the first three years of the lease only

Output during the first three years 10000, 14000 and 18000 tons respectively.

6. Calculate the amount of Purchase Consideration from the following :

The purchasing company agreed to issue 30000 equity shares of Rs. 10 each at
a premium of 10%, 1000, 8% preference shares of Rs. 100 each at par, 1000 6%
debentures of Rs. 100 each at a discount of 10% and pay cash equal to 25% of
the total purchase consideration.

SECTION-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Mr. Tejas does not maintain proper books of accounts. From the following
information, prepare Trading and Profitand Loss Alc for the year ended 31-3-2016
and the Balance Sheet as on that date.

Assets and Liabilities ' 1-4-2015 31-3-3016
Rs. Rs.
Debtors 18,000 25,000
Stock '9,800 13,200
Furniture 1,000 1,500
Creditors 6,000 4,500

Cash on hand 5,000 R
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Cash collected from Debtors
Cash paid to Creditors
Salaries

Rent

Office expenses
Drawings

Foreign capital introduced
Cash sales

Cash purchases

Discount received
Discount allowed

Return inward

Bad debts

Analysis of other transactions are :

Rs.
60,800
44,000
12,000

1,500
1,800
3,000
2,000
1,500
5,000

700

300

1,000
200
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8. Raman purchased a machine costing Rs. 2,40,000 on 1-4-2013 from Bangalore

Machines Ltd. under Hire Purchase System. The terms being

Rs. 60,000 down and the balance in three equal annual instalments together with
interest at 20% P.A. on the outstanding cash price. Depreciation is to be charged
at 15% P.A. under Diminishing Balance Method.

Prepare necessary Ledger Accounts in the books of Raman till 31-3-2016 under

Asset Accrual method.

9. X Co. Ltd. took a lease from a landlord for a period of 25 years from 1-1-2010 on
a royalty of Rs. 2 per ton of coal raised with a minimum rent of Rs. 20,000 and
power to recoup shortworkings during the first four years of the lease. The annual

output was as follows.

Year Tons
2010 5000
2011 8000
2012 10000
2013 15000

2014 20000

Prepare Minimum Rent A/c, Royalty A/c, Shortworkings A/c and Landlord A/c.
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10. A, B and C carrying on business in partnership sharing Profits and Losses in the
ratio of 4 : 3 : 1 respectively. On 31-3-2016 they agreed to sell their business to
a Limited Company. Their position on that date was as follows.

ik

Liabilities Rs.

Sundry creditors 40,000

Loan 20,000
Capitals :

A 1,00,000

B 75,000

C 65,000

3,00,000

Assets Rs.
Freehold property 90,000
Machinery 60,000
Debtors 75,000
Stock 65,000
Cash 10,000

3,00,000

The company took over the following assets except cash :

Freehold property Rs. 1,10,000, Machinery Rs. 55,000, Debtors Rs. 70,000,
Stock Rs. 60,000, Goodwill Rs. 20,000.

The company also agreed to pay the Creditors which were agreed at

Rs. 38,500.

The company paid Rs. 1,68,000 in fully paid shares of Rs. 10 each and the
balance in cash. The expenses amounted to Rs. 2,500.

Prepare necessary Ledger Accounts in the books of the firm.

A) Calculate the cash price of an asset from the following details :

Down payment
| instalment (payable at the end of |
Il instalment (payable at the end of

lll instalment (payable at the end of Il quarter of the year)
IV instalment (payable at the end of IV quarter of the year)

Rate of interest = 20% P.A.

B) Prepare an Analysis Table from the
a) Minimum rent Rs. 20,000 P.A.

Rs. 6,000

st quarter of the year) Rs. 7,200
Il quarter of the year) Rs. 6,900
Rs. 6,600

Rs. 6,300

following details :

b) Royalty payable Rs. 5.00 per ton.
¢) Shortworkings can be recoverable during the first 3 years of the lease only.
d) The production for the past 4 years were as follows :

2012 —2000 tons
2013 - 3000 tons
2014 —4000 tons
2015—-4500tons

(TR
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| Semester B.Com. Examination, November/December 2017
(F+R) (CBCS) (2014 - 15 and Onwards)
Commerce
Paper — 1.3 : FINANCIAL ACCOUNTING - |

Time : 3Hours Max. Marks : 70
Instruction : Answer should be written completely either in English or
in Kannada.
SECTION-A

1. Answerany five sub-questions. Each sub-question carries twomarks. (5x2=10)
a) What do you mean by Accounting Standards ?
b) Mention any two objectives of Financial Accounting.
c¢) Bring out the meaning of short working with an example.
d) What is single entry system ?
e) State two features of hire purchase system.
f) What is Realisation Account ?
g) Mention the two methods of purchase consideration.

SECTION-B

Answerany three questions. Each question carries sixmarks. (3x6=18)
2. Describe any three advantages and three limitations of Financial Accounting.

3. Prepare an analytical table of royalties from the following details :
a) Minimum Rent %20,000p.a.
b) Royalty ¥ 2.00 per ton of ore raised
c¢) Short workings are recoverable during the first 3 years of the lease only
d) The output for the first 4 years was
2013 : 2,000 tons,
2014 : 5,000 tons,
2015: 15,000 tons,
2016: 20,000 tons

P.T.O.
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4. Ms. Venya purchases a motor car on hire purchases system. Calculate
cash price of the motor car from the following.
Down payment ¥ 20,000 ; 15t yearly installment % 28,000 ; 2" yearly installment
% 36,000 ; 3 yearly installment ¥ 33,000 ; Rate of interest 10 % p.a.

5. Calculate the total purchases from the following information.

Particulars Rs.
Opening Balance of creditors 3,000
Cash paid to creditors 90,000
Goods returned to creditors 15,000
Acceptances issued to creditors 90,000
Discount allowed by creditors 2,000
Closing balance of creditors 6,000

Cash purchases during the period amounted to Rs. 50,000/-

6. Calculate the amount of purchase consideration from the following :
The purchasing Co., has agreed to issue 30,000 equity shares ofZ 10 each ata
premium of 10 %, 1,000, 8 % preference shares of ¥ 100 each at par, 1,000,
6 % debentures of ¥ 100 each at a discount of 10 % and pay cash equal to
¥25,000.

SECTION-C

Answerany three questions. Each question carries 14 marks. | (3x14=42)

7. On 1-1-2012 Deeksha and Company purchased a machinery under hire purchase
system. The cash price was¥ 17,000 payable as under, ¥ 2,000 on signing the
agreement and the balance in 3 installments of ¥ 5,000 each together with
interest at 8 % p.a. On 315t of December each year the asset is depreciated at
10 % p.a. on original cost method.

Prepare necessary Ledger Accounts in the books of Deeksha and Co., under
asset accrual method.

8. Ms. Monika patented an Automatic Door Closer and granted to Ms. Suraksha
the licence to manufacture and sell the Door Closers for 10 years on the following
terms.

a) Suraksha to pay a Royalty of ¥ 5 for every door closer sold with a minimum
rent of ¥ 2,500 p.a.

b) Suraksha could set off the short worklngs arising in any year agamst surplus
royaltles payable in the next 2 years.
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c) From the second year onwards the dead rent is agreed upon at z 2,000
instead of% 2,500 and all other terms being unchanged. The other details are :

Year Sales (units)

2013 100

2014 200

2015 300

2016 500
Show ledger accounts in the books of Suraksha and Co., including minimum
rent account.

9. Mr. Ridhansh, a general goods merchant does not maintain his books of accounts
systematically. However the following information could be ascertained from
his books of accounts for the year ended 315'March 2016.

Assets and Liabilities . Balances

1-4-2015 31-3-2016
4 T

Plant and machinery 63,000 63,000

Stock of goods 28,000 24,500

Sundry debtors 7,000 10,500

Sundry creditors 17,500 16,310

Balance at bank 14,000 16,110

Cash Transactions during the year ended 31-3-2016 :

Particulars 3

Wages paid 21,000

Sundry expenses 8,250

Advertisement expenses 3,920

Rent paid 8,750

Purchase expenses . 8,610

Cash collected from debtors  2,88,750

Cash paid to creditors 2,25,190

Drawings 10,920

Mr. Ridhansh drew goods worth¥ 2,730/- from the business during the year for
his household purposes. The purchase returns and sales returns during the
year amounted to% 7,000/- andX 3,500/- respectively. The plant and machlnery
have to be depreciated at 5 %. '

Prepare Trading and Profit and Loss A/c for the year ended 31St March 2016
and also Balance Sheet on the same date.
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10. Ram and Prem are partners havings profit sharing ratio of 2 : 1 and their
Balance Sheet as on 31-3-2017 was as follows :

Liabilities 4 Assets g
Creditors 40,000 Cashin hand 300
Bills payable 10,000 Bills receivable 5,000
Ram’s loan 20,000 Debtors 60,000
Ram’s capital 30,000 Less : Reserve 3.000 57,000
Prem’s capital 20,000 Stock 43,700
Reserve fund 6,000 Machinery 20,000
1,26,000 1,26,000

They agreed to sell the business to a Limited Co. and the Co., to take over the
assets and liabilities as follows :

Machinery at % 16,000, Stock at ¥ 35,000, Debtors atx 50,700. B/R at ¥ 5,000
and Goodwill atZ 6,000.

The company agreed to take over Creditors at % 38,000 and B/P at % 10,000.
The expenses of realisation amounted to% 300. The firm received % 40,000 of
the purchase price in ¥ 10 fully paid equity shares and the balance in cash.
Distribute the shares as per original capital ratio.

Prepare the necessary Ledger Accounts in the books of the firm.

11. a) From the following details drawn from the books of Pradeeksha, you are
required to ascertain the opening stock :
3

Purchases made during the year 22,000
Sales made during the year 33,000
Closing stock 2,000
Wages, Freight 500
Indirect expenses 700
Rate of gross profit on cost 50 %
Return inwards 3,000
Return outwards 2,000

b) Calculate the amount of Interestincluded in each instalment of hire purchase

system.

Cash price ¥ 1,50,000, Down payment ¥ 45,000, 3 annual instalment of
¥60,000,% 45,000, 30,000 respectively payable at the end of each year.
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| Semester B.C.L.S./B.Com./B.C.S.P/B.C.T.T. Examination, December 2018
(Semester Scheme) (CBCS)
COMMERCE
Financial Accounting

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in English or in
Kannada.

SECTION - A

1. Answer any five sub questions. Each sub question carries 2 marks. (5x2=10)
a) What do you mean by purchase consideration ?
b) What is royalty ?
¢) What do you mean by Accounting Standards ?
d) Give the meaning of hire purchase system.
e) Give any two reasons for conversion of a firm into a limited company.
f) What do you mean by shortworkings ?

g) Mention any 2 objectives of Financial Accounting.

SECTION -B

Answer any three questions. Each question carries 6 marks. (3x6=18)
2. Explain any 4 accounting concepts.

3. Prepare an analytical table of Royalty from the following details :
Minimum rent — ¥ 25,000 p.a. ‘
Royalty — X 2 per ton of ore raised
Shortworkings are recoverable during the first 3 years of the lease only.
The output for the first 4 years is as follows :

1styear — 3,000 tons; 2™ year — 10,000 tons; 3™ year — 30,000 tons and
4" year — 35,000 tons _ :

P.L.O.
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4. From the following details, calculate purchase consideration and show the
journal entries in the books of purchasing company.

The purchasing corpany has agreed to issue 8,000 equity shares of ¥ 10
each at par, 500, 8% preference shares of ¥ 100 each @ 10% premium, 1,000
debentures of ¥ 50 each @ 10% discount and pay cash equal to 10% of purchase
consideration. :

5. From the following information you are required to determine the amount of
total sales :

Opening stock X 80,000
Purchases 3 4,00,000
Closing stock % 70,000

Rate of gross profit on sales 20%

6. Ms. Veena purchases a motor car on hire purchase system. Calculate cash
price of the motor car from the following :

Down payment % 20,000;
1% Instalment X 28,000;
2" Instalment X 36,000;
3" Instalment < 33,000;

Rate of Interest — 10% p.a.

SECTION - C

Answer any three questions. Each question carries 14 marks. (3%x14=42)

7. On 1% January, 2014, Mr. Jayanth purchased a washing machine from Royal
Enterprises on hire purchase basis. The cash price of the machine was
360,000, payable ¥ 12,000 on signin"g the agreement and the balance in 4 annual
instalments of ¥ 12,000 plus interest @ 15% p.a. payable on 31%' December
each year. Jayanth writes off depreciation @ 10% p.a. on diminishing balance
method. Show the "nece'ssary Ledger A/cs in the books of Jayanth.

e — e A e e e e el




AT 5 13121

8. X Co. Ltd. took a lease from a landlord for a period of 20 years from 1-1-2010
on a Royalty of X 2 per ton of coal raised with a minimum rent of ¥ 20,000 and
power to recoup shortworkings during the first four years of the lease. The
annual output was as follows :

Year Tons
2010 5,000
2011 8,000
2012 10,000
2013 15,000
2014 20,000

Prepare Minimum Rent A/c, Royalty A/c, Shortworkings A/c and Landlord A/c.

9. A, B and C were in partnership sharing profits and losses in the ratio of 4 : 3 : 1
respectively. On 31t March, 2018, they agreed to sell their business to a limited
company. Their position on that date was as follows :

Balance Sheet

Liabilities Amount Assets Amount
Creditors 16,000 Land and Buildings 36,000
Loan from Bank 8,000 Furniture 24,000
Capital Alc Debtors 30,000
A 40,000 Stock 26,000
B 30,000 Cash 4,000

C _ 26,000
1,20,000 1,20,000

The company took the following assets at the valuation shown below :

Land and Buildings — X 44,000; Furniture — ¥ 22,000; Debtors — X 28,000;
Stock — ¥ 24,000 and Goodwill - X 8, 000.

The company also agreed to pay creditors which was agreed at % 15,400.

The company paid 3,300 equity shares of ¥ 10 each and the balance in cash.
The expenses amounted to ¥ 1 000 Prepare the necessary ledger accounts
in the books of the firm. :
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10. Mr. Das keeps his books by single entry system. From the following data,
prepare Trading and P & L A/c for the year ending 31%' March, 2018 together
with Balance Sheet as on that date :

a) Cash book analysis shows the following :

Salaries — ¥ 17,000; Business expenses — ¥ 15,600; Interest charges —
X 400; Drawings — % 4,000; Payment to creditors — ¥ 30,000: Cash sales —
X 30,000; Receipts from debtors — % 50,000; Balance at bank on 31-3-2018

-3 5,000.
b) Further details available are :
Particulars _ 1-4-2017 31-3-2018
4 ¢

Stock 18,000 20,440
Creditors 16,000 11,000
Debtors 44,000 60,000
Furniture 2,000 2,000
Machinery 30,000 30,000

c) Provide interest on opening capital @ 5%; provide % 3,000 for doubtful debts
and 5% depreciation on all fixed assets. ¥

11. a) Calculate interest included in each instalment. Cash price —X 60,000; down
payment — X 18,000 three annual instalments of ¥ 24,000, ¥ 18,000 and
X 12,000 respectively payable at the end of each year.

b) Ascertain credit sales from the following :

T
Opening debtors 80,500
Cash received from debtors 6,23,500
B/R received 24,000
Sales returns 8,000
Bad debts o6 0]
B/R dishonoured 3,000
Discount allowed 2,000

B/R discounted with bank 4,500

i o e
e e e S T U St e S S e S S e S G = ST o S e N —
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Q.P. Code : 34121

First Semester B.Com.(Regular)/BCLS/BCTT Degree Examination,
November/December 2019
(CBCS — New Scheme)
Commerce
Paper 1.3 - FINANCIAL ACCOUNTING

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answer should be written in English.

SECTION - A
Answer any FIVE sub-questions from the following. Each sub-question carries
2 marks : (5x2=10)
1. (a) Mention any two objectives of Financial Accounting.

(b) List out any two benefits of conversion of Single Entry System into
Double Entry System.

(c) Give any two features of a dependent branch.
(d)  Give the meaning of Hire Purchase System.
(¢) What is Inter departmental transfer?
(f) Calculate sales :
Cost of goods sold Rs. 24,00,000, Rate of Gross Profit 20% on sales.
(8) Why is Hire Purchase is greater than Cash Price?

SECTION - B

Answer any THREE questions from the following. Each question carries
5 marks : (3 x5 =15)

2.  Briefly explain any five advantages of Financial Accounting,

3.  Brijesh Vishwanath had the following transactions. Use accounting equation to
show their effect on his Assets, Liabilities and Capital?

(a) Invested Rs. 15,000 in cash
(b)  Purchased securities for cash Rs. 7,500

(c) Purchased a machinery for Rs. 25,50,000 : giving Rs. 50,000 in cash and
the balance through loan account

(d) Sold securities costing Rs. 1,000 for Rs. 1,500
(e) Purchase an old car for Rs. 2,800 cash.
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4.

Calculate the closing balance of debtors from the following information :

=
Opening balance 10,000
Credit sales 90,000
Cash received 33,000
Cheques received 40,000
Acceptances received 15,000
Discount allowed 2,000

Acceptances dishonoured 3,000

Mr. Kulkarni purchases a motor car on hire purchase system. Total price of the
car payable is 40,000 as down payment and thereafter the instalment of
Rs. 26,000, Rs. 24,000 and Rs. 22,000 payable at the end of first, second and
third year respectively. Interest is charged at 10% p.a. Calculate the Cash Price.

SECTION - C

Answer any THREE of the following. Each question carries 15 marks :
(3 x 15 = 45)

Prakruthi Traders has a branch at Mulbagal. Goods are sent from the head office
at cost plus 25%. The branch also purchases goods independently from local
parties for which payment is made by the branch itself out of its collections. The
branch advised to deposit cash periodically into head office bank account.
From the following particulars prepare Mulbagal Branch A/c in the books of
head office for the period ending 31st March, 2018.

Particulars Amount Particulars Amount
Balance as at Discount allowed by
1st April 2017 branch to debtors 80,000
Branch petty cash 80,000 Cash received by branch
Branch debtors 10,00,000 from debtors 50,00,000
Branch furniture 8,00,000 Branch salary and rent
Branch stock paid by head office 1,50,000

Goods sent by head office  9,60,000 Petty expenses paid

Direct purchases 4.80,000 by branch manager 2,20,000
Cash sales 18,00,000 Balances as at

Credit sales 53,00,000 31st March, 2014

Direct purchases 18,00,060 Branch petty cash ?
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Particulars Amount Particulars Amount

Returns from customers Branch debtors ?

to branch 1,20,000' Branch furnijture ?
Goods sent to branch at Branch stock

invoice price 24,00,000 Goods sent by
Cash sent to branch head office 7,20,000

for petty expenses 1,00,000 Direct purchases 4,80,000
Bad debts at the branch 40,000

Provide depreciation on branch furniture at 10% per annum.

7. From the following balances extracted from the books of Black Berry
Departmental Stores, Prepare Departmental Trading and Profit and Loss Account
in columnar from the year ended 31st December, 2016 :

Particulars Debit Credit

Opening stock on 1.1.2016 :

Dept. I 1,20,000

Dept. II 90,000
Purchases and sales :

Dept. I ' 1,60,000 3,00,000

Dept. II 1,40,000 2,80,000
Carriage Inwards :

Dept. I 4,000

Dept. II 2,000
Machinery 36,000
Salaries 60,000
Rent 12,000
Repairs to machinery 30,000
Debtors and creditors 45,000 60,000
Capital 1,60,000
Cash in hand 12,000
Bills receivable and Bills payable 15,000 6,000
Drawings 20,600
Buildings 60,000 e

Total 8,06,00C6 8,06,000
Adjustments : '
(@) Closing stock on 31st Dec. 2016 Dept. II 1,20,000
(b) Salaries to be allocated in the ratio of 7 : 3
(c) The value of machinery in Dept. I is 20,000 and that of Dept. II 16,000
(d) Depreciate machinery @ 10% p.a. and building by 5% p.a.
()  Area of the building is occupied by Dept. I 3/5t%, Dept. II 2/5th,
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8. . Mr. Jayatheertha, a retailer does not keep his books of accounts, but does
operate a business bank account. A summary of the bank statement for the year
ended 31.03.2016 is given below :

Summary of Bank Scroll
Receipts Rs. Payments 1258
Opening Balance 2,640.00 Cash paid to creditors 37,250.00
Cash received from Salaries 5,500.00
debtors 48,500.00 Rent 1,800.00
Closing balance 2,210.00 General expenses 3,500.00
Advertisement 300.00
Drawings 5,000.00
53,350.00 53,350.00
His Assets and Liabilities on 31.03.2015 and 31.03.2016 were as follows :
31.03.2015 31.03.2016
(Rs.) (Rs.)
Fixed assets 10,400.00 10,400.00
Stock 5,240.00 6,300.00
Debtors 6,500.00 6,800.00
Rent prepaid : 300.00. 600.00
Creditors 4,600.00 4,700.00
Outstanding advertisement bill 100.00 150.00
Fixed assets should be depreciated at 10%
Prepare the Trading and Profit and Loss Account of Mr. Jayatheertha for the year
ended 31.03.2016 and a Balance Sheet as on that date.
9. Mr. Prasanna purchased machinery from Bangalore Machinery Ltd. on

Ist January 2010 on hire purchase system. The payment is to be made as
follows:

Rs. 50,000 paid at the time agreement, Rs. 3,70,000 at the end of 2010,
Rs. 3,40,000 at the end of 2011 Rs. 3,10,000 at the end of 2012, Rs. 2,80,000 at
the end of 2013, the cash price of machinery Rs. 10,50,000, Rate of interest is
12% p.a. Prasanna charged depreciation on Machinery at 25% p.a. on
diminishing balance. You are required to prepare necessary ledger accounts in
the books of Mr. Prasanna.
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Reg. No.

I Semester B.Com./B.C.L.S/B.C.T.T Degree _Examination; August - 2021

COMMERCE
Financial Accounting
(CBCS New Scheme 2019-20 Onwards Regular)
Paper - 1.3 : '

Time : 3 Hours Maximum Marks : 70 :
Instructions to Candidates : i

Answer should be written in English

SECTION-A
Answer any five sub questions from the following. Each sub question carries two marks. .
(5x2=10)
1. a) Mentionany two conventions of Accounting.
b What is a Domestic Branch?
¢) Whatis Repossession?
d) SalesRs. 2.00,000/- G.P Rate 25% on cost calculate cost of Goods sold.
e) Mention any two advantages of single entry system.
f) . Mention any two differences between Hire purchase system and Normal sales.
@) Mention any four users of Accounting.
SECTION-B
Answer any three sub questions. Each sub question carries 5 marks. (3x5=15)

2. On what basis the following items are divided in departmental accounts.

2)
b)
)
9
¢)

Carriage Inwards.
Free samples.
Discount Received
Wages

Electricity expenses.

[P.T..
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3.

Prepare on Accounting equation from the following transactions:
a) Commenced Business with cash Rs. 60,000/~

b) Purchased office equipment for cash Rs. 10,000/~

¢) Purchased goods on credit from sathya Rs. 40,000/-

d)  Sold goods on credit to Ajay Rs. 18,000/- '

e) Paid expenses Rs. 10,000/-.

Calculate the opening stock:

Purchases 13,000/
Sales 22.000/-
Closing stock 1.500/-
Wages 250/-
GP on cost 113
Returns. I/'W 2,000
Returns O/W 500

A vehicle has a cash price of Rs. 16,200 and is payable in 3 annual installments of Rs. 6000
Each. Find out interest and cash price component in each installment. ‘

SECTION-C
Answer any three questions. Each question carries 15 marks. ' (3x15=45)

A purchased an equipment from B on 1/4/16 Whose cash price was. Rs. 8,60,000/-.
Rs. 1,40,000 was pavable as down payment and the balance towards cash price was payable
in three equal annual installments along with an interest of 10% P.A. on the outstanding
balance of cash price.

A charges depreciation @ 10% P.A. on the equipment under rec ucing balance method.
Prepare necessary ledger Accounts in the books of hire purchaser.

From The following particulars prepare Departmental Trading & Profit & Loss Account for
the year ended 31/3/2020.

M N
Stock on 1/4/2019 34,800 | 29,400
Purchases - 70,000 60,000
Sales 2,40,000 | 1,60,000
Direct exp. 16,400 |  5.400
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Rent 18,780
Salaries 6,000
Other Expenses 7,200
Lighting 4,200
Discount Allowed 4,440
Discount Received 1,300
Advertising & Publicity 7,360
Carriage Inwards 4,680

Other informations:
1.  Stock on31/3/20 : Dept M -33,480
Dept N - 24,100
2. Transfer of goods from Dept M to Dept N at cost price was Rs. 840
3. Rent, other expenses, lighting, salaries & carriage Inwards to be divided in the ratio
of 2:1 between M & N.
4. - Discount Allowed & Received tube divided on the basis of sales & purchases
respectively.
5. Advertising & Publicity to be divided equally.
6.  Total depreciation Rs. 4,800 to be divided in the ratio of 3:2 between M&N.
8.  From the incomplete information extracted from the books of Mr. Q. prepare a trading and
Profit & Loss account for the year ended 31/3/20 and a balance sheet as on that date.

Assets & Liabilities 1-4-19 31-3-20
Stock 19,600 26,400
Equipment . 4,000 4,000
Debtors ' 36,000 50,000
Creditors 12,000 , 9,000
Bank 10,000 s
Other Transactions:

Collections from Debtors 1,21,600

Payment to creditors 88,000

Staff Expenses 24,000

Rent, Rates & taxes 3,000

Establishment Expenses 3600

Drawings 6,000

Fresh Capital : 4,000

Cash, sales 3,000

Cash purchases 12,000

Discount received 1,000

Discount Allowed 500

Bad Debts 1,000

Returns Inwards 400

Depreciation on equipment @ 15% P.A.
[PT.O.
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9.  Abusiness having its Head office at Dharwad, has a branch at Hubli, Goods are supplied by
the head office Cost and the branch is required to sell them and remit cash daily. All the
expenses are paid by the Head office except the petty cash expenses which are paid by the
branch. Manager prepare Hubli Branch account in the books ofthe Head office.

Rs.
Branch Stock on 1/4/19, 7,500
Branch Debtors on 1/4/19 4,500
Branch Petty Cash on 1/4/19 400
Branch Furniture on 1/4/19 2,500
Goods sent to Branch 40,000
Goods Returned by the Branch 5,000
Goodé Returned by the customers of the Branch
To Branch 200
Cash received from the branch debtors. 16,000
Cash sales at branch 2,000
Credit sales 16,000
Rebate allowed to debtors 200
Cheque sent to branch for expenses:
Rent 1000
Salary : 800
Stationery | 100
Petty expenses paid by branch manager -~ Rs. 200/-
Branch stock on 31/3/2020 T 8000/-

Depn. on Branch furniture @  5%PA.




